AR R A Y RERHEMEERL (FiEp R E
BAEERLR € %e(112.6)
o |play N = A I8 3 r 5 #
P %ﬁs%"%?iﬁg FR TR S pr s il FEA(GEE L)
LAREapieR oo e ok i+ Tm B4
2 ARPE L A gL
6128| = |45 |#FEFE 2 & agpy & Y i+ 38. 41 w22, 25
629w |-M|2LiEAFEpPr e dil B migE g4 BFE L B AeAE £ i%28.32.38. 470 p]22. 23
6130] 7 |-43
711 -42
T2 p |-41|224 3B E "7 8 i 57 B 30
713] - |-40
s 2% |2 32.33.38. 4T P 14. 15
AERET £ 52 i35 4 weE oM
_ J}"CE B AL E%ﬂ;‘?” ijﬁ'é\‘ HLE E ;%—)g:e B B L\‘«faFF o1
75 = [-38 ]t{)cé\iﬁg%. w4 E }‘@L—Lﬁ;‘ ’?. FE R A B Fcé\' IR # 31
o i A R e e i e P20
! HiFE A Fd 2 g o e e g |
716 = |-37 d el ERE R T 1:4311#% B E RR ,553 o
Zp TRAEE RIFRNG6.T
T116] p |-27
7117 -26
7118| = |-25
7119 = |-24
7120 = [-23
7121 7 |-22
7122 -21
7123 p |20 [FEF A L P Hid AED EREA P g %2019, 10
7124] - |-19
7125| = |-18| 22 ER A &P 2LRF L=z REE ERE L1299 38m P11, 22
7196l = [-17 gALp B3 E
— ~ 2. 4FER A B - Bt
70127 = | -16 A LT TS o st | s P % 340120
7128| 7 |-15 EPEEA L
7129 -14 i Gy £ 23mp11
71300 p |-13
7131 -12
81| = [-11 AP MR NER R %47 w28
1o 82| = [-10 3K TE R LI G 12
83| = | -9
8147 | -8 |~2EHE Ak i£23.38mp|12. 22
8|5 -7
N3 iFE A LR RE AL " .
BI6 7 | 6|, uz mp i%38. 400 22, 24
8 -1-5 7¥ %
b s |i246
8 e N N
8 = | -3 AP iENFEEHRLE v ye (24T R12
8110l = | -2 < b2d
Ap TS EREEY - O » 620 41
- [ o E EEL R AR w262
811 7 | -1 I EEER ili?%ﬁ%&»éﬁ:ﬁ% 2 Y i ik amnl3
EdL B GY Y AR ¢ ¢
8112 RPHKBEL S A IRIEF L RS FE #5732, 33. 34
8113 n | 1
8114l - | 2 FERA P ZHBREAY S48 R fcdn e 25T
Byl L Bop 2 13 E A R 2_TEE A 4 K £ 67 mp 42
8115| = | 3 |
8116 = | 4 s
817 = | 5 PN %
ApmBE L EEFEA| 2
glig| 7 | 6 ?g FLARGE st 5 |%38m R 22
2 YA P
8119 7 BE 8 A
8120] n | 8 LEp )
v
ApHWERLEE AP )
821~ | 9 |mn g rar e F P |mpas
8l22| = | 10 |~p by ERT #1117
8123 = | 11
8 27 15 AP FFFEA AR - REATEE So 35
Ap g RiEE L REE %32
9117 36
: i iz A APF’\”‘ AT F' A PR 2 Z 4327
R AR g oA RERR AL "R R oA RERRAZ S Tl LRI 0 s HHBER Y -
2.:3%?%”"*? 112#72 1p 423 112#87 15p =1L 2 o




